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Weather Related

Directions: Read the excerpts about climate. Then decide how the author organizes the information in each excerpt. Choose from the list of patterns provided in the box at the bottom of the page. Then explain your choice.
1. Earth’s climate is a complex system. In any location, climate is determined by latitude, proximity to an ocean, position relative to atmospheric and oceanic currents, altitude and albedo, plus other factors. 

_______________________________________________

Explain your choice: 

2. As a boy on a farm in rural West Virginia, [Lonnie Thompson] was fascinated with meteorology. He at​tended Marshall College, where he studied to become a coal geologist. Thompson married the only woman studying physics at Marshall, Ellen Mosely, and the couple moved to Ohio State University for graduate school. Thompson’s life took a fateful turn when he secured a research job working with the first ice cores ever collected.

_______________________________________________

Explain your choice:

3. The Mayan civilization collapsed around A.D. 900. … New seafloor sediment and tree ring data point to extreme drought as the primary [reason]. Because reservoirs could store water only for a year or two, when Mayan rulers were no longer able to supply their subjects with water, the civilization failed. Farmers moved to other areas or, more likely, died of starvation and thirst. People weakened by famine are also more prone to disease.

_______________________________________________

Explain your choice:
4. The United States is an enormous emitter of CO2 in part because it is the world’s largest economy. But that does not tell the whole story, because the United States emits twice as much CO2 to produce one unit of Gross National Product (GNP) as the nations of Western Europe. This means that the United States is only half as efficient in its energy use as Western Europe. Australia has low total emissions because it has such a low population, but it is nearly as inefficient with energy use as the United States.

_______________________________________________

Explain your choice:
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